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Ql K=4.996924 m! Ql K=4.716280 m
Q2 K=-2.127496 m Q2 K=-2.101650 m!
Q3 K=2.827092 m! Q3 K=2.827092 m!
Q4 K=-2.668010 m —> Q4 K=-2.668010 m?
Q5 K=-2.668010 m! Q5 K=-2.668010 m!
Q6 K=2.827092 m! Q6 K=2.827092 mt
Q7 K=-2.127496 m Q7 K=-1.948310m!
Q8 K=4.996924 m! Q8 K=4.499893 m!
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Q4 K=2.668010 m1 Q4 K=-2.668010 m!
Q5 K=2.668010 m™1 Q5 K=-2.668010 m-!
Q6 K=-2.827092 m Q6 K=2.827092 m!
Q7 K=2.127496 m! Q7 K=1.887517 m

Q8 K=-4.996924 m Q8 K=-4.298611m™
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LCS opticsIERII/NTA—43: E=35.51MeV, ¢, = ¢,,= 0.3mm mrad, 0,= 3 ps
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